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7 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%#8% % — - ~ — —|3m%iBZ B — ~ — — —
s 1.00 | 0.00 ~— 4.52 56.36 | TnLS | 000 ~ 452 1.91 10.23 ThList 1.00 | 5.00 ~ 6.00 56.36 | ThLs | .00 ~ 5.00| 1.91 10.23
2 100kN/mM##BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM%E#8% % — - ~ — — |3mEFBZ B -~ — — —
ZhnLst 1.00 | 000 ~ 477 59.50 | ThLs | 000 ~ 000 1.71 917 zhLst 1.00 | 5.00 ~ 6.00 59.50 | #nhst | 5.00 ~ 5.00| 1.71 917
3 100kN/mM%#BZ % — - ~ — —|3mZEB2B| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — |3ImEBZ D -~ — — —
s 1.00 | 0.00 ~ 467 5819 | #nWS | 000 ~ 467 1.84 9.856 ThList 1.00 | 5.00 ~ 6.00 5819 | =hst | 5,00 ~ 565.00| 1.84 9.86
4 100kN/mM%BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — | 3mET A — ~ — — —
st 1.00 | 0.00 ~ 383 48.07 | =hd4 | 000 ~ 383|227 12.13 ThList 1.00 | 6.00 ~ 6.00 48.07 | =hLs | 5,00 ~ 6.00| 227 12.13
5 100kN/mM%{BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM#%E#8% % — - ~ — — | 3mET A - ~ — — —
s 1.00 | 0.00 ~ 382 48.04 | FnLSY | 000 ~ 382|227 12,13 ThList 1.00 | 6.00 ~ 6.00 48.04 | =hLS | 5,00 ~ 6.00| 227 12.13
P 100kN/mM#E#BZ % — - ~ — —|3mZBZzB| — ~ — — — | 100kN/mM%E#8% % — - ~ — — | 3mZEBAD -~ — — —
ZhLst — - ~ — —| #nst - ~ — — — ZhLst — - ~ — — | Fnst -~ — — —
7 100kN/mM%#BZ % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — — | 3mE A5 — ~ — — —
Thsn — -~ = —| #hust -~ = — — Thsn — - ~ — — | =hest - ~ — — —
100kN/MZ#2Z % ~ ImEBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Ths ~ Thsn ~ Zzhust ~
100kN/M%#22 % ~ 3mEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEEZD ~
zhsn ~ zhst ~ Thsn ~ Zzhust ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%Z#BZ % ~ 3mEBZD ~
Thilst ~ Thilst ~ ZhLlst ~ zhust ~
100kN/MZ#2 2 % ~ ImEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ zhst ~ Thsn ~ ZzhLst ~
100kN/mM%#2Z % ~ ImEEBAD ~ 100kN/ M%#BZ % ~ 3mEBZD ~
zhsn ~ Thst ~ Thsn ~ ZzhLst ~
100kN/MZ#2 2 % ~ 3mEHBAD ~ 100kN/ M%#BZ % ~ 3mEBZ D ~
Ths ~ zhs ~ Thsn ~ ZzhLst ~
100kN/MZ#2Z % ~ ImEHBAD ~ 100kN/ M%Z#BZ % ~ 3ImEBZ D ~
Thilst ~ ThLlst ~ Thsn ~ Zzhust ~
100kN/MZ#2Z % ~ ImEBAD ~ 100kN/ M%Z#BZ % ~ 3mEBZD ~
Thsn ~ zhst ~ Thsn ~ ZhLst ~




